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1 2|3 4 516 7 8 91 10 11 12 13 14 151 16 17 18 19
"binobepesske | 1 |26 2,5 | - - - 10C3 86| 0,7 |1 26 36 410 3e| Bep 2 30
“binobepesske | 7 | 2| 2,5 | - - - 10C3 76] 0,8 |1 24 26 410 3e|BCP E B 35
-binoGepesske | 7 | 13] 0,7 | - - - 10C3 86106 |1 25 32 330 3e|BCP 'g g = 30
binoGepespxe | 7 | 14| 04 | - - - 10C3 761 0,7 | 1 24 26 360 3e|BCP = S 35 %
-binoGepesske | 18| 8 | 22 )| 1,3 1,3 10C3 81108 |2 22 28 370 3e|BCP §_ é- 5 35 =2
. binobepespke | 27 | 18| 2,0 | - - - 9C31bn 4210911 16 14 250 4e|BCP ‘g = é 40 E
Binobepesske | 30 | 10| 8,5 3)[ 8,0 8,0 8C3(56)1C3(75)1bn | 56| 0.8 | 2 17 20 250 4¢|BCP E g ‘g, 30 L
binobepeseke | 33| 2 | 04 | - - - 7C3(86)3C3(70) 86106 |1 25 36 290 4 e[ BCP s % 30
- Bino6epesske | 33 { 10| 5,0 ()] 45| 45 10C3 81[0,65| 1 26 26 382 4¢|BCP % & 40
-binobepeseke | 42 | 12| 2,7 | - - - 8C3(71)2C3(111)+Bn |71 0,7 | 2 20 24 300 4 e |BCP = 35




BinoGepesbke | 52 |1 13| 6,7 | - - - 10C3+bn 761 0,8 |2 22 26 390 4¢| BCP 40
binob6epesbke | 53| 3 | 2,2 | - - - 10C3+bn 611 0,81 20 24 320 4¢|BCP 35
BinoGepesbke | 53 | 241 0,7 | - - - 10C3a+bn 6110711 20 22 280 4¢| BCP " 30
BinoGepesbke | S5 8 | 3,9 [(1)] 2,0 ] 2,0 10C3+/I3+bn 59| 08| 2 18 20 280 3e|BCP ‘g 40
binoGepespke | 56 | 23| 1,5 | - - - 10Cs 861 0,7 |1 27 32 420 3e|BCP 2 40
binoGepesbke | 571 18| 3,1 [(3)] 2,1 | 2,1 7C3(91)3C3(70) 9110711 26 36 400 4¢| BCP ’E 40
Binobepeseke | 57 [20] 3,1 | - | - | - 6C§831(22)2)f13;(n60) 110} 0,7 | 2| 27 44 370 | 4e|BCP % _ 35
binobepespke | 58 | 19] 2,1 | - | - - 10C3+bn 571 0,8 |laj 22 22 380 4¢| BCP § E 35
binobepespke | 58 [ 22| 0,8 | - - - 10C3+bn 66| 0,8 |1a] 27 30 480 4¢| BCP E § 45 °
binobepespke | 59123 | 1,9 | - - - 9C31bn 711 0,8 |16 29 30 500 4¢|BCP E .§“ 40 GE
Birobepespke | 66 | 3 | 11,5 | - - - 10C3+bn 661 0,811 21 24 350 4¢| BCP .E é 30 E
Bino6epesske | 67 | 1 | 155 |(3)] 1,5 ] 1,5 9C31Bn+/13 66| 08 |1 21 24 330 3e|BCP g B 40 Py
Bino6epesske | 70| 4 | 2,4 |[(2)| 1,8 | 1,8 10C3 911 0,71 26 30 400 4¢|BCP E 'g 40 =
Binotepesske | 70 | 21] 24 [(1)] 0,7 ] 0,7 3py0 - - |1 - - - 4¢| BCP é § 40
(3]
BinoGepesskey| 70 | 22| 2,3 [(1)] 0,6 | 0.6 6C;g;31()625():f_g£0) 81]07 |2 23 30 340 | 4e|BCP E’E; 30
BinobGepezpke { 71 | 15] 1,6 [(3)] 1,0 | 1,0 10C3 9110,7]1 27 28 420 4e|BCP 2 40
bino6epespke f 71 | 191 0,5 | - - - 8C3(60)2C3(80) 6010711 21 22 340 4¢| BCP q’é 30
Binobepesske { 74 | 10} 1,3 |(2)| 1,0 | 1,0 10C3 86 0,7 ]2 22 28 320 4¢| BCP z 30
butobGepesske | 74 [ 17} 1,7 |(1)] 0,5 ] 0,5 9C31bn+Bnu 761 0,7 {1 24 30 350 4¢| BCP = 40
Bbinobepespkes| 75 1 | 0,2 | - - - 10C3+bn 61]1]05]1 21 30 210 4¢|BCP 25
bino6epesskey 75| 4 | 0,7 | - - - 10C3 861 0,6 |1 25 36 320 4¢| BCP 30
Pasom: - - 1930 - |25,0] 25,0 - - - - - - - - - - - -
XKepeBchke 711105 | - - - 10C3 711 0,711 25 28 430 4e¢|BCP 2 30
XKepeceke 4 7 | 3| 4,6 | - - - 9C31/I3+bn 711 0,8 {1 25 28 440 4¢| BCP E g 35
Kepesceke y 7 | 4] 55 | - - - 9C31bn 711 0,8 | 1 25 28 440 4¢| BCP .§ §'§ 20 ©
Kepesceke |+ 7 | 5| 54 | - - - 5C35bn+I3+0c¢ 711 0,711 25 28 270 4¢|BCP g g E 45 g
Kepescoke | 7 | 7] 1,5 | - - - 8§C31 3113 8110,7 |1 27 k2] 390 4e| BCP E.E % 30 =
XKepesceke {-8 | 2 | 8,7 |(2)] 8,2 ] 82 10C3+/I3+bn+Oc¢ 761 0,8 | 1 25 28 450 4¢|BCP é g 3 25 5
XKepesceke ¥ 8 | 9| 3,0 | - - - 10C3+Bbn+Oc¢ 81]08]1 27 32 490 4 ¢ | BCP %é & 25 X
Kepesceke 12| 1] 0,6 | - - - 10C3+)I3+bn 761 0,7 | 1 24 32 370 4¢ | BCP g g 30
XKepencoke 12| 9| 0,3 | - - - 10C3 61]108]1 22 26 395 4¢| BCP g 30




XKepescske 4] 12 [ 11| 1,9 | - - - 10C3+bn 761 0,7 {1a] 27 32 460 4¢| BCP 30
XKepeBcoke 4 12 14| 04 | - - - 10C3+]Iz+bn 761 08| 1 26 32 460 4¢| BCP 30
Xepescbke {12 119] 1,0 | - - - 10C3 861 0,7 |1 28 32 510 4¢{BCP 25
XKepepcoke § 12 {30( 0,8 | - - - 10C3 6310811 22 24 370 4¢| BCP 25
XKepescoke | 12 {42 0,7 | - - - 9C31I'3+/[3+5ne+bn | 61] 0,8 |1a] 23 28 370 4¢| BCP E 30
XKepeBceke J 13| 7 [ 6,1 | - - - 9C31bn+/13+0c¢ 711 08 | 1 25 28 420 4¢| BCP S 30
Xepescbke |24 11) 52 | - | - - 10C3+/13+bn 76| 0,7 | 1 26 36 395 4 ¢ | BCP i 30
XKepepcoke | 25( 10| 0,8 | - - - 10C3+/13+bn 811071 27 32 410 4¢|BCP ,E 20
XKepeceke | 25( 11| 0,7 | - - - 10C3+]I3 861 0,711 28 32 460 4¢| BCP © 20
XKepesceke |41 2] 2,6 |(2)] 0,8 08 10C3+/I3+bn 8110711 25 28 380 4¢| BCP ? 30
Xepescbke | 41| 7| 0,6 | - - - 10C3+/13 861 0,711 28 36 450 4¢| BCP é 30
XKepescbke | 44 |24] 1,8 | - - - 10C3+/13 8310711 25 28 390 4¢| BCP § 30
Xepesceke |46 3 | 3,7 [(1)j 0,81 08 10C3 1201 0,6 | 2 28 32 360 3e| BCP = 20
Xepescoke | 46 | 16] 2,8 [(3)] 1,2 | 1,2 10C3 8110812 23 28 430 3e| BCP '8.. 45
XKepebcoke | 57| 1] 32,0 [(8)]19,1] 19,1 10C3+5ne 1111 0,6 | 1 29 36 445 4¢| BCP 2 40
Xepesceke | 77| 7 [ 3,0 | - - - 10C3+]I3+3 86] 0,6 | 1 27 36 390 4¢| BCP ’E 50 o
XKepesceke | 771 9| 1,4 |(D] 051 05 10C3+/I3 86| 0411 27 32 290 4¢| BCP S 40 %
Wepesceke | 77122 1,7 | - - - 8C31I31I'3+bn+0Oc | 66| 0,7 | 16| 28 32 390 4¢| BCP -E 35 =
XKepepcrke | 831 18] 6,5 | - - - 10C3+/{3+bn+Oc 66| 0,711 24 28 350 4¢| BCP § 45 g
XKepescoke | 90| 10] 6,9 | - - - 9C31bn+/13 66] 0811 24 26 390 4¢|BCP = 35 =
XepeBceke | 90| 11| 2,4 | - - - 9C31/I3+bn 66| 0,8 |1a|] 26 32 470 4¢| BCP g 40
XKepescoke J120{ 9 | 1,0 ()] 0,6 | 0,6 10C3+bn 66| 08 | 1 21 24 355 3e|BCP 'é 50
Xepescbke |123] 2} 1,0 | - - - 10C3 621 08| 1 21 24 355 3e{BCP E 30
XKepecbke 129 16] 0,5 | - - - 10C3 5810811 21 24 340 3e¢|BCP < 25
XKepescoke |129/20| 0,2 | - - - 10C3 761 0,712 22 26 330 3e|BCP g 25
Xepescbke |131{ 14( 0,5 | - - - 10C3 661 08| 1 24 28 440 ‘3e|BCP g 35
Xepecbke |133f 71 0,5 | - - - 10C3 8110711 25 36 390 4¢| BCP 8 35
Xepescoke |134| 18] 0,5 | - - - 10C3+bn 861 0,6 | 1 26 36 350 4 | BCP g 35
Xepescoke [134] 19 1,5 {(2)| 09| 09 10C3 861 0,6 | 1 25 32 340 4 | BCP X 40
XKepescoke [134]34| 6,8 {(2)]| 6,7 | 6,7 10C3 861 0,6 | 1 25 32 340 4¢|BCP E 45
XKepercoke |134]44| 3,5 |(2)] 0,5 0,5 10C3 761 0,711 25 32 395 4¢| BCP S 40
Xepencoke [134[45( 3,5 | - - - 10C3 66] 0,711 23 28 360 4¢| BCP 45
Xepesceke [120] 1 | 44 |(3)] 25| 2,5 10C3+/]3+bn+Oc¢ 71106 |1 23 28 305 3e|BCP 35
XepeBceke |135[29f 2,5 | - - - 10C3 6610811 23 28 400 4¢| BCP 30
XKepesceke |135{30) 3,5 | - - - 9C31bn+0c¢ 711 081 1 25 32 400 4¢1BCP 30




v)KepeBchke 0,3 10C3 56| 0,8 |1a|] 22 26 400 4¢| BCP 30

Pa3zom: 1433 - - - - - - - - - ‘B -

OpaHcbKe 0,7 6C34bn+Oc 701 0,6 | 1 23 32 220 4¢| BCP % 40

OpaHcbKe 2,0 9C31bn 6510711 24 28 350 4¢| BCP S 35

OpaHchbke 4,0 10C3 66| 0,8 |1 22 28 380 4¢| BCP %ﬁ 40

OpaHcbKe 1,8 10C3 8510712 24 32 360 4¢| BCP & 30

OpaHcbke 5,9 10C3 801 08| 2 22 32 360 4¢| BCP ,: 35

OpaHcbke 1,9 10C3 80 08| 2 22 32 350 4 | BCP 2 40

OpaHCbKe 1,4 10C3 8210611 26 36 340 4¢| BCP % 30

OpaHcbke 0,6 10C3 86] 0,711 27 32 420 4¢|BCP g = 50

OpaHchbke 4,2 9C31 I3+KJII' 761 0,811 25 28 425 4¢{ BCP g E 70 %

OpaHcbke 2,1 10C3+Bay+Oc 661 0,7 |la] 27 32 420 4¢| BCP .E 5’“ 40 2

OpaHcbke 5,3 10Cs 6110811 21 26 350 4¢|BCP = _§ 35 E

OpaHcbke 7,2 9C31bn+/13+0c¢ 66| 081 22 28 360 4¢| BCP -E 3 40 o

OpaHChKe 3,6 10C3 661 0,8 |1 21 28 350 4¢|BCP g R 40

OpaHchKe 2,5 10C3 52081 20 24 330 4¢|BCP g 45

Opanceke 0,5 10C3 5510611 28 32 390 3e| BCP g 35

OpaHcbke 1,6 10C3+Oc 901 0,711 28 40 450 3e|BCP l§ 30

OpaHcbKe 3,5 10C3 6410711 23 28 350 3e|BCP g 35

OpaHCcbKe 3,4 10C3 7110811 22 26 380 3e| BCP 9 30

OpaHCbKe 1,2 10C3 66| 0,72 20 24 290 3e|BCP % 30

OpaHcbke 2,2 10C3 63108 |1 22 26 375 3e¢| BCP S 40

OpaHcbke 1,3 10C3 591 0,8 |16] 27 32 485 3e| BCP 2 30

OpaHcbke 2,5 10C3 64] 0,8 {1a|l 25 30 440 3e¢|BCP 40

Pazom: - 59,4 - - - - - - - - - -
PossaxiBcbke | 3 1,9 10C3+bn 711 0,7 23 26 370 4¢| BCP =S 40
Possaxisceke | 3 1,0 10C3+bn 561 0,8 21 24 390 4e¢| BCP % § = 40
Possaxisceke | 3 1,1 8Ca2bn 801 0,5 20 32 160 4¢| BCP g ,E E 50
PospaxiBceke | 4 0,4 7C32J)Inn1 [13+bn 571 0,7 22 28 280 4 ¢ | BCP 5 a :, 50 %
PosBaxisceke | 4 0,4 10C3+]13 61] 0,6 23 38 340 4¢| BCP § é :‘g 50 =
Possaxiecbke | 4 0,2 10C3+/13 621 0,7 23 28 350 4¢| BCP ; § ‘E, 50 E
Pozsaxieceke | 4 6,1 10C3 56| 0,6 23 26 350 4 e | BCP E =& 45 2
Po3BaxiBceke | 4 1,5 10C3+/13 591 0,7 23 26 370 4e| BCP z = % 30
Pozsaxiscbke | 11 1 6,4 10C3+bn 561 0,6 22 24 340 4¢ | BCP * % 8 50
Possaxisceke | 16 4,1 10Cs 611 0,7 22 24 350 4¢|BCP E 50




Po3Baxisceke | 28| 4 | 82 | - - - 10Cs 661 08| 1 23 26 430 4¢| BCP < 40
PospaxiBceke | 28 | 15] 6,9 | - - - 10C3+bn+Oc¢ 701 0,6 | 1a| 27 32 330 4¢| BCP .E ;g 40
Pospaxiscbke | 42 1 13| 8,0 |(2)] 7,0 | 7,0 10C3+bn+Bau+]]3 761 0,6 | 1 26 28 370 4¢| BCP 'S 50
PozBaxisceke | 52112 0,8 | - - - 10Cs3 581 0,711 22 26 310 4¢| BCP -E .; 50
Possaxiscbke | 2 |21 1,6 |(2)| 0,6 | 0,6 9C31bn 761 0,6 | 1 24 32 315 4¢| BCP g3 2 40
Pospaxcisebke | 3 | 15| 7,1 |(2)] 6,9 | 6,9 9C31bn+/3 711 0,6 {1a|l 26 36 370 4e| BCP g § —_ 65 %
PosBaxieceke | 4 | 1| 4,7 | - - - 8C32bn 661 0,7 | 1 23 28 330 4e¢| BCP & = g 30 2
Pospaxieceke | 40 | 19 2,4 | - - - 10C3+Axk6 61] 0,6 [la| 24 32 330 4¢| BCP lg:;’ 'g = 40 E
Pozeaxieceke | 55| 8] 3,8 | - - - 10C3 711 0,7 | 1 23 28 370 4e¢| BCP g g 60 2
PozBaxieceke | 55 | 11} 4,1 | - - - 10C3+Oc¢ 761 0,6 [la| 27 36 370 4e] BCP g ’E 50
PozBaxisceke | 66 | 20| 3,8 | - - - 10C3 611 0,7 |1a| 23 26 375 4¢{ BCP % g 50
Pospaxisceke | 67 | 2 | 5,7 | - - - 10C3 61{ 0,7 |1a| 24 28 390 4e| BCP S 'f-: 55
Pozsaxisceke | 68 [ 2 | 8,0 |(2)] 7,0 ] 7,0 10C3 61| 0,7 [1la] 23 26 370 4¢| BCP 2 § 70
PozBaxiscebke | 69 | 18] 1,9 | - - - 10C3+Oc+Biu 811 0,7 |1a|] 28 32 440 4e| BCP ~ 35

Pazom: -1 -190,1| - {349] 34,9 - - - - - - - - - - - -
Oenesuupke | 1 (21 1,2 | - - - 10C3 911 0,6 | 2 23 32 310 2e¢| BCP o 15
®enesumbke | 2 |30] 0,1 | - - - 9C31bn 341 0,71 14 14 170 2¢ | BCP 3 10
Qenesuupke | 2 |33 1,7 | - - - 10C3 761 0,8 | 3 18 20 250 2¢| BCP § 10
PeneBunpke | 3 [ 22| 0,6 | - - - 9C31Bay 911 0,7 | 2 25 32 360 2 | BCP = 10
®enesunpke | 3 | 23| 04 | - - - 10C3 66] 0,711 23 30 340 2 | BCP g 10
Denesrupke | 3 [24] 1,0 [(3)] 0,6 | 0,6 10C3 66| 09 (1 23 22 400 2 | BCP .é - 10
PeneBurpke | 3 [35] 02 | - - - 8C32Bmu 81] 0,6 |1a] 29 36 400 2 | BCP §- > 15
®enesunpke | 4 |29 0,4 | - - - 10C3+Bnmu+bn 661 0,7 | 1 22 28 350 2 | BCP o E’ 15
MeHeruipke | 4 (30 0,1 | - - - 10C3 66| 0,711 23 28 340 2 | BCP ‘E ;Z 10 %
®Denesunpke | 9 | 2| 0,3 | - - - 7C33Bmu 661 0,71 23 28 300 2 | BCP E :§ 10 2
OeHeBunpke | 9 | 3 1,2 | - - - 10C3+Bmy 66| 0,8 |1a] 25 28 450 2 | BCP Z ‘% 15 %
Denepupke | 9 [ 18] 14 | - - - 10C3 71108 | 1 24 28 460 2 | BCP ; - 15 2
Denepuupke | 10|10 1,8 |(2)] 1,0 | 1,0 10C3+Bnu+bn 701 0,7 [1a|l 28 32 400 2 | BCP 2 2 10
Deneprpke | 101 11] 3,1 [(3)] 2,4 | 2,4 10C3 711 0,9 | 1 24 26 440 2 | BCP N § 20
®enesunpke | 10| 12| 0,3 | - - - 10C3 55108 |1a|] 24 28 450 2 | BCP \g 10
Oenesunpke | 10| 13 0,2 | - - - 10C3 711 0,7 [1la| 27 32 430 2 | BCP 5 10
Denepnnpke | 11 8 | 0,9 | - - - 10C3+Buu 711 0,9 |1a| 26 28 520 2 | BCP % 10
@enepuupke | 11127 22 |(3)] 0,3 | 03 10C3 711 0,8 |1a| 26 28 450 2 | BCP =) 15
Denesuupke | 1117 2,6 {(3)] 23 | 2,3 10Cs 911 0,71 26 28 370 2 | BCP 2 15
®enesunpke | 11|18 1,9 | - - - 10C3 91106 | 1 26 32 340 2 | BCP = 10




®crepunpke | 11 24| 0,6 | - - - 8C32bn 491072 16 18 180 2 | BCP 10
®cuepunpke | 12 139)] 0,2 | - - - 10C3+/13 861 0,6 | 1 27 36 360 3 | BCP 15
®cnepuupke | 12140 04 | - - - 10C3 55108 |1a] 23 24 400 3 | BCP 15
®ecuepunpke | 12 141] 08 | - - - 10C3 61] 0,8 |1a|] 25 28 410 3 | BCP 15
®enepuupke | 13121 3,1 | - - - 10C3 100{ 0,6 | 1 29 36 410 3 | BCP E 15
®eneprupke {20 3 | 0,8 | - - - 10C3 701 0,711 23 24 340 3 | BCP § 10
Denesunpke {20 6 | 0,8 | - - - 10C3 101 0,8 | 2 25 36 440 3 | BCP :. 10
®enerunpke | 20 71 0,3 | - - - 8C32bn 66| 0,713 17 20 180 3 | BCP ,g 10
®enepupke |20} 8| 03 | - - - 10C3 1051 0,6 | 1 28 36 380 3 | BCP © 10
®enepupke | 20] 91 03 | - - - 10Cs 911 0,7 |2 22 26 330 3 | BCP ? 10
®enesunpke | 21 (24 0,5 | - - - 10C3 5610811 20 24 320 3 | BCP é 15
®enepuupke | 21|27 0,9 | - - - 10C3 561 0812 18 20 280 3 | BCP § 15
®enesunpke | 21 1301 1,2 | - - - 10C3 66] 0,6 | 2 18 22 220 3 | BCP o 10
Menepupke | 211311 0,5 | - - - 10C3 56| 0,8 ]2 18 20 280 3 | BCP 'a 10
®denepupke | 211341 2,2 [(3)] LS| L,5 10C3 46| 0,7 ] 1 17 18 220 3 | BCP 2 10
®enepunpke |22 41 2,0 |[(2)] 1,0} 1,0 9C31 /13 140 0,4 | 1 32 44 380 3e| BCP ’E 20 e
®enesupke | 23] 1] 0,8 [(2){ 03] 03 10C3 551 0,8 jla|] 22 24 370 3e|BCP o 20 ]
®Genesunpke |23 2| 14 | - - - 10C3 911 0,5 |1a] 30 36 340 3e|BCP -f—: 15 E
Ocrepupke [ 2313 | 0,2 | - - - 10C3 61] 0,8 |1a|] 25 28 440 3e|BCP §‘ 25 :g
®enepurpke | 23| 4] 05 | - - - 10C3 91| 0,5 [1a] 30 36 360 3e|BCP = 20 =
Oenecpunbke | 231 5| 04 | - - - 10C3 61} 0,9 [1la] 26 26 520 3e| BCP % 20
Oenepunipke | 481 9| 04 | - - - 10C3 711 0,7 |1 25 28 385 4¢| BCP E 30
®ecnepuupke | 48 | 15 1,6 |[(2)] 0,7 { 0,7 10C3 861 0,71 25 30 390 4¢]| BCP E 30
®enesunpke | 48231 0,5 | - - - 10C3 81107 |1 27 36 420 4¢| BCP % 25
Menepuubke | 48 [ 24| 0,7 | - - - 10C3 61 0,7 |1a] 23 26 330 4e¢ | BCP 3 25
®enesunpke | 481251 0,6 | - - - 10C3 86) 0,71 27 32 420 4¢|BCP l‘% 30
®cuepuipke | 48 129] 04 | - - - 10Cs 61] 0,7 {1a|] 23 26 330 4 | BCP 8 15
®enesurpke | 48 (30| 03 | - - |- 6C32Bmu2 /13 8110611 25 28 270 4 | BCP § 20
®denepupke | 49 (24 1,1 |(3)] 0,1 | 0,1 10C3 106] 0,7 | 2 27 36 460 4¢| BCP 5 20
Menepuipke | 66| 3| 0,9 | - - - 10C3+bn 66| 08| 5 11 16 130 3 | BCP E 10
®enesurpke | 66 | 131 19 | - - - 5C35bn 41106 ] 2 13 16 110 3 | BCP S 10
®epepurpke | 66 | 14 1,5 | - - - 10Cs3 5110815 8 14 80 3 | BCP 10
®enepuupke | 671 3| 09 | - - - 7C33bn 811 0,713 18 26 180 3 | BCP 30
®cHepuupke | 79 1| 0,2 | - - - 10C3+bn 46 0,8 | 4 8 12 80 3 | BCP 10
®enesurpke | 791 3| 0,7 | - - - 10C3+bn 561 0,712 16 16 210 3 | BCP 10




Menepupke | 791 81 14 | - - 10C3 5810813 14 18 180 3 | BCP =" 20
®Denesunpke | 791 9| 04 | - - 10C3 5610812 18 20 280 3e|BCP ’§ 10
Menesunbke | 86 | 3 14 | - - 10C3+0c¢ 66| 0,711 24 26 360 3 | BCP E- 15
Menesuipke | 86| 4 | 0,9 | - - 10C3+bn 641 0,73 16 16 200 3 | BCP ‘B 10
Denepunbke | 871 1 | 2,5 - - 6C34bn 3310713 10 14 80 3 | BCP % 35
Penesurpke | 87| 2 1,9 | - - 10C3 5110712 16 18 210 3 | BCP 3 25
®Deneeunpke | 87| 3 | 1,1 | - - 10C3 5510813 14 16 180 3 | BCP = 15
ODenesunbke | 871 4 | 04 | - - - 8C32Ak0 5510711 19 24 240 3 | BCP §- 10
Denesurpke | 90| 1| 1,5 | - - 8C32Akb6 55107 |laj 22 26 270 3 | BCP ,: 20
DeHepunpke [ 90 4 | 0,8 | - - 10Cs 8110712 23 28 340 3 | BCP S 10
Denesurpke | 96| 1| 1,3 | - - 10C3 5110711 20 22 280 3 | BCP % 20 2
Denerunpke |[114] 5| 0,6 | - - 10C3 81106 ] 1 25 32 330 4e| BCP a = 20 )
Oenesunpke | 117) 16| 2,2 | - - 10C3 761 0,712 21 24 300 3 | BCP g/ E 15 g
Denesunpke |{117]125] 0,3 | - - 10C3 110 0,6 | 2 27 36 350 3 | BCP a2 3 10 5
Denenupke |117127] 2,1 [(2)] 1,2 ] 1,2 10C3 105 0,6 | 2 25 36 320 3 | BCP E 25 =
Genesunpke | 120] 23| 0,4 | - - 10C3 5110811 20 20 300 3 | BCP .E 10
®enesmmpke | 121117 1,7 | - - 10C3 115 0,6 | 1 29 40 400 3 | BCP =| 20
Denesunpke | 121 18 3,0 | - - 10C3 110 0,5 ] 2 28 40 330 3 | BCP E 25
DcHesnupke |121)24| 0,6 | - - 10Cz .~ 1151 0,4 | 2 28 40 250 3 | BCP g, 10
®enesunpke | 121125 1,1 | - - 10C3 66| 0,7 | 1 23 24 360 3 | BCP lé’ 15
®Denesunpke |121]27] 0,8 | - - 10C3 66| 0,7 | 1 23 26 330 3 | BCP e 10
PeHesunpke [122] 4 | 1,2 | - - 10C3 96| 0,6 | 1 27 30 360 3 | BCP § 15
DeneBuubke |122] 5|1 1,3 | - - 10C3 96§ 0,6 | 1 27 40 370 3 | BCP % 15
®enepuupke | 1221 6 | 0,3 |(2)] 0,1 | 0,1 10C3 110 0,51 2 25 36 270 3 | BCP S 10
®Qenepunpke 1221 7] 1,2 |(2)] 03| 0,3 10C3 91 0,7 |2 26 36 400 3 | BCP g 15
Pasom: -1 -89} - [11,8] 11,8 - - - - - - - - -
Benoro: - | - 1467,7| - | 86,2 | 862 - - - |- - - - - -
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